Exercises for lecture 15 @

1 Consider the following diagrams:

Oy x, X, (Y] X,
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A A
X3 * XS *
a | Write the position and momentum space Green functions for all of them (L$*):
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(attention, I'm asking for 6, not the S matrix element, this is BEFORE applying LSZ formula - if you can just write them do
it, no need to calculate anything)

b Consider the LSZ formula, particularized to when all Z= 1 and all m; = m:
n
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Compare what happens when you apply that formula to diagrams (I) and (II) above.
What about (Ill) and (IV)?

Which diagrams above would contribute to a (2 — 2) scattering? Which would contri-
bute to a (2 — 4) scattering?




